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General Instructions:

1) The question paper comprises Six Sections — A, B, C, D, E and F. There are 37 questions in the
guestion paper. All questions are compulsory.

2) Section A — From question 1 to 20 are MCQs of 1 mark each.

3) Section B — Question no. 21 and 24 are Very Short Answer Type Questions, carrying 2 marks each.
Answer to each question should not exceed 40 words.

4) Section C contains Q.25 to Q.29 are Short Answer Type Questions, carrying 3 marks each. Answer
to each question should not exceed 60 words.

5) Section D — Question no. 30 to 33 are Long Answer Type Questions, carrying 5 marks each.
Answer to each question should not exceed 120 words.

6) Section-E - Questions no from 34 to 36 are case based questions with three sub questions and are
of 4 marks each.

7) Section F — Question no. 37 is map based, carrying 5 marks with two parts, 37a from History (2
marks) and 37b from Geography (3 marks).

8) There is no overall choice in the question paper. However, an internal choice has been provided
in few questions. Only one of the choices in such questions have to be attempted.

9) In addition to this, separate instructions are given with each section and question, wherever
necessary.

Note: CBQ stands for “Competency Based Question”. 50% weightage allocated for competency based
questions.
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SECTION-A
MCQ Answer Based Question (Q21to 24) 1X20=20

Q1.Which of the following is not a feature or belief of ‘Conservatism’? 1

(a) Conservatives believe in established, traditional institutions of state and policy.

(b) Conservatives stressed the importance of tradition and preferred gradual development to quick
change.

(c) Conservatives proposed to return to the society of pre-revolutionary days and were against the
ideas of modernization to strengthen monarchy.

(d) Conservatives believed in the monarchy, church, and other social hierarchies.
farafaf@a & @ Fia a1 'FRagH R[AAvar a1 Aar 4¢F &2
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() fearfeal & WRT & FAged W IR Gar 31k aRa aRads & o wfAs Qe @&t
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(@) wfearfeal o qa-wifaery et & FaArer 7 dlest &1 yeda @ iR TR # A
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Q2. The following potrait of bharatmata made by which famous painter 1

(a)

Rabindra nathtagore




(b) Bamkinchandra chattopadhyay

(c) Abanindranath Tagore (d) Prem chand
Ra AT F1 Arafaf@a T fFw afqy Reer g@rr s« mr = 32
(37) TdigaTTYr EIR (&) dfrarag TceTeaTy
() HIeAIgaTTY IR () YFde

Note: The following question is for Visually Impaired Candidates only in lie of Q. No.

Identify the correct option that describes the movement given below.

The movement broke salt laws and also refused cooperation with the British
(a)Rowlatt Satyagraha Movement

(b)Civil Disobedience movement

(c)Non Cooperation Movement

(d) Quit India Movement

Y f&T 37T 31ieTele T guTeT et ATl Hel fasheT i ugare|
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(T.) AT 37947 eIl

(G.) HRT BIST 3TcTelel

Q3. Arrange the following events in the correct sequence and select correct option.
(a)Frederic Sorrieu prepared a series of 4paintings.

(b)French Revolution.

(c)Napoleon was defeated.

(d)Victor Emmanuel Il was proclaimed the king of united Italy.
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(b) 2,314
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Q4. Complete the following table with the correct information- 1

Movement Champaran Movement
Started in year A
Started in state B

Started because

Farmers of that region were forced to grow indigo on their land.

Choose correct option :
(a) A-1907, B-Bihar
(b) A-1917, B -Bihar
(c) A-1927,B-Punjab
(d) A-1937, B—Punjab
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(31) A-1907,B- S8R
(d) A-1917,B-fER
(F) A-1927, B—GolTd

(&) A-1937, B—9alTd

Q5. Consider the following statements: 1

(a) In a federation the powers of the federal and provincial governments are clearly demarcated.

(b) India is a federation because the powers of the Union and State Governments are specified in the
Constitution and they have exclusive jurisdiction on their respective subjects.

(c) Sri Lanka is a federation because the country is divided into provinces.




(d) India is no longer a federation because some powers of the states have been devolved to the local
government bodies.
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Choose correct option :

(a)a,bandc
(b)a,cand d

(c) aand b only

(d) b and conly

Q6. A system of ‘checks and balances’ is another name for which one of the following power-
sharing arrangements: 1
(a) Power sharing among different social groups.

(b) Vertical division of power or power shared among different levels of government.

(c) Horizontal division of power or power shared among different organs of the government.

(d) Power sharing in the form of political parties, pressure groups and governments.
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Q7. Consider the following statements about the ethnic composition of Sri Lanka: 1
A. Major social groups are the Sinhala- speaking (74%) and Tamil-speaking (18%)?

B. Among the Tamils, there are two sub-groups, Sri Lankan Tamils and Indian Tamils.

C. There are about 7% Christians, who are both Tamil and Sinhala.

D. Most of the Sinhala-speaking are Hindus or Muslims and most of the Tamil-speaking are
Buddhists.

Which of the above statements are correct?

(a)A, B, C



(b) A, B,D
(c)B,C,D
(d)A,B,C,D
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Q8. On which idea does the communal politics is based on?

(a)Religion is the principal basis of social community
(b)Caste is the principal basis of social community
(c) Gender is the principal basis of social community
(d) All of the above.
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Q9. Bahujan Samaj Party (BSP) was formed in 1984 under the leadership of

(a).Kanshi Ram (b) Sahu Maharaj

(c). B. R. Ambedkar (d) Jyotiba Phule
agaﬁmsrqﬁ(m)mmwm# ¥ dAqea # frar = 4
(37) FrefRTA (@) Wg FERT
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Q10. Choose the right option to fill in the blank.
Political parties are allotted symbols by



(a) The government of India (b) The constitution of India
(c) The party leaders (d) The Election Commission
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Q11. There are two statements given below marked as Assertion (A) and Reason (R). Read the
statements and choose the correct option. 1

Assertion (A): Democracies are based on political equality.

Reason (R): All individuals have equal weight in selecting representatives.
(a) Ais true but R is false.

(b) Ais false but R is true.

(c) Both A and R are true and R explains A.

(d) Both A and R are true but R does not explain A.
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Q12. If a government provide its citizens a right and means to examine the process of decision, it is
1

(a)An accountable government

(b)A Responsible government

(c)A transparent government

(d)A Stable government
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Q13. “Consequences of environmental degradation do not respect national or state boundaries.”
which of the following statement not justify this statement. 1

(a) Environmental degradation issue is no longer a regional or national issue.

(b) Our future is linked together.Sustainabilityofdevelopmentisessentialforallthemankindand it is our
common responsibility to save the environment.

(c) These days it is a matter of discussion among different countries of the world.

(d) Global warming, acid rain, etc., are to be controlled by one nation. It is a personal matter of
thinking and finding the solutions.
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Q14. The Chipko Movement in the Himalayas to protect the forest cover was started by 1
(a) Sunder Lal Bahuguna (b) Dr Anil Agarwal
(c) Dr Aruna Roy (d) Medha Patkar

Q15. Which state has made roof top rainwater harvesting structure compulsory to all the houses
across the state?

(a) Kerala (b) Karnataka
(c) Tamil Nadu (d) Andhra Pradesh

Q16. Read the source given below and answer the questions that follows: 1
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Which sector has grown the most over thirty years?

(a) Service sector (b) Public sector

(c) Agriculture sector (d) Primary sector
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Q17. Read the information given below and select the correct option: 1

Raghavhassurplusmoneysoheopensabankaccountanddepositsinit. When ever he needs money.he can
go to his bank and withdraw from there. This kind of deposit with the banks are known as

(a) Demand deposit (b) Term deposit
(c) Fixed deposit (d) Surplus deposit
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Q18. Which one among the following is a far reaching change in the policy made in India in 1991? 1
(a) Removing barriers or restrictions set by the government which is known as liberalisation.

(b) Put barriers to foreign trade and foreign investments.

(c) Restrictions set by the government to protect the producers within the country from foreign
competition.

(d) By giving protection to domestic producers through a variety of means.



frmafaf@a & & slawur1991 7 o & ot AT & v g wRads
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Q19. Money-lenders usually demand a ‘security’ from the borrower. What is the formal word used

for the ‘security’, such as land, vehicle, livestock, building, etc.? 1
(a) Deposit (b) Collateral
(c) Credit (d) Voter Card

HIEHR HHAR T SURFAT J Y& A AW Q@ §1GRET F v ggea sitwafia e
FAT &, SN 3R, AT, Teu, s7aT, 3fer?

(37) STHERTRA (§) FOTUR
() g () HACTAT Ygdlddd
Q20. Investment made by multinational companies is called: 1
(a) Foreign Investment (b) Investment
(c)Trade barriers (d) None of these
TSI FUTordl ST R I fder FwEenar:
(37) facelr foaer (&) faer
(T) SATUR ST (G) 3T & HIS =Ter
SECTION-B

Very Short Answer Based Question (Q21to 24 ) 2X4=08

Q21“A farmer of Gujarat earns enormous profit by sailing cotton in the market ? Discuss the
reasons behind it” 2

“IEA FT TF fFUT IR H FIH 99 AR HATHT FAT @I 82 50 NS F FRo
w gEr #”

Q22. ‘Trade and cultural exchange always went hand in hand’ Give two

arguments in support of statement.
2

‘SR AR AREFIAF ITeTA-9eld gHAT WY-J1Y Told ¢ FIF & AT § ar a&

difa|
OR



“The silk routes are a good example of vibrant pre-modem trade and cultural links between
distant parts of the world.”

"X AR AT & qT-a0r & Rewwl & A Shiaa qa-amyfas samr ik aiesfas waut
T TSI ST 51"

Q23 Why is decentralization favored in democracy? Identify any two reasons 2
Arpda A fAdsiovur & wi i f5aT ATdT 82 $Ig g BRI UgdI-g
Q24. Define majoritarianism. 2
TSR AIG DI URHTIIT B3
SECTION-C
Short Answer Based Question (Q25 to 29 ) 3X5=15

Q25. India comes under which type of federation and why? 3
HRT FE YR F T & adda arar § ik F4
Or

Why has federalism succeeded in India? Which are the policies adopted by India that have
ensured it? Explain.

WA # duarg 1 A g §? ARG g IuAr$ ¢ Wl e A § Sl
30 giafaa frar &2 sarear St |

Q26. What are ‘Institutional Reforms’? Enlist various institutional reforms taken by the Indian
Government to bring about improvements in agriculture. 3

WEYWETT FUR' FT 2 F F UR a1 & AT ARAEEHR @R 3o1¢ 70 @fde
HEIETT FURT A G a7 =

Q27. Explain reasons for the rising importance of the tertiary sector in India. 3

AR & JdIF &9 & T Hecd & FRUN HY SATEAT F

Q28. Explain any three reasons for bringing in large number of new readers among children,
women and workers during the late 19" century 3

19d T & d H Tl AR 3R AfAF F fiv 7 FEIT 7 AC qoF HAH F
N T FROT I

Q29.Explain the objectives of Mahatma Gandhi National Rural Employment Guarantee Act
2005.3
HeTe it IS i ISR TRE siffaw 2005 % IgAl B AREn S|



SECTION-D
Long Answer Based Question (Q30to33) 5X4=20

Q30. Why is energy required for all activities? How can energy be generated? Explain. 5
it aIfafdftaY & v FoT 1 maegsar FaT 82 FaT FA IcTeed T ST Thdl g2 TS

S IAT|
Or
Environmental degradation has been seen everywhere, Explain any five steps that can help to prevent
environment degradation

TATETOT &ROT g1 918 S@T 14T §, FE UiT HeH adid Si) GITEIoT &OT A et H

Aeg FT AHd &
Q31. “After 1871, the most serious source of Nationalist tension in Europe was the Balkans.” Explain
the statement with reasons. 5

"'1871 & 91, JAT A ISTATEY dalTa HT HaA TR W qTehet YT|" FHYUT H FROT Fled THFAY |

OR

Describe any five measures introduced by the French Revolutionaries to create a sense of
collective identity amongst the French people.

WHTHTHY AT & S Wi EeT Y 1aer dor FRa F fAw wre swifawiat ganr % fhe
T fregl urer 39TAt 1 goie #Y

Q32. “Lack of internal democracy within parties is the major challenge to political parties all over the world”.
Analyze the statement. 5
"qifét & iR Iale dwaT # Fl gfear o & Toefas gat & fw a3 gald 2
HYA FT fFeAvoT FIL

Or
“Dynastic succession is one of the most serious challenges before the political parties.” Analyse the
statement.

"HAEATE IRMAFR ATAIaF gl F A Fa@ 73 qalfaat & @ v 1" Fyar #
fareawor #X.

Q33. “Cheap and affordable credit is crucial for the country’s development.” Assess the statement. 5

"gFAT 3R e ®or U & Rew F AT Azt 1" FAT F MFAT FW.
Or
“The credit activities of the informal sector should be discouraged.” Support the statement with
arguments.

"ItgEIR® &7 A HuEfafafal F seacafea Far T ofRel” aF afRd a9 &1
AT F:IU



SECTION-E
Case Based Question (Q 34t036) 4X3=12

Q34.Read the sources given below and answer the questions that follows: 4

The Congress Working Committee, in its meeting in Wardha on 14 July 1942, passed the historic
Quit India resolution demanding that the British immediately transfer power to Indians and leave
India. On 8 August 1942 in Mumbai, the All India Congress Committee endorsed the resolution
which called for a non-violent mass struggle on the widest possible scale throughout the country. It
was on this occasion that Gandhiji delivered the famous ‘Do or Die’ speech. The call for ‘Quit India’
almost brought the state machinery to a standstill in large parts of the country as people
voluntarily threw themselves into the movement. People observed hartals, and demonstrations
and processions were accompanied by national songs and slogans. The movement was truly a mass
movement which brought into its ambit thousands of ordinary people, namely students, workers
and peasants. It also saw the active participation of leaders, namely, Jayprakash Narayan, Aruna
Asaf Ali and Ram Manohar Lohia and many women leaders such as Matangini Hazra in Bengal,
Kanaklata Barua in Assam and Rama Devi in Odisha. The British responded with force, yet it took
more than a year to suppress the movement.

1. Where did Gandhiji give his famous do or die slogan? 1
2. What was a demand of the ‘Quit India’ resolution? 1
3. Name the two famous female leaders who participated in the Quit India Movement? 2

M Rw o aat #1983k Reafaf@a weat & 39w E:

e S WAL 77 14 SaTS 1942 T qul & 3791 dooh 7 UfgTiae R Srs) geara aid T,
fSrerat #iar & 375 o 37aeT T HRAAT T HAT GEATARA Y 3R R I | 8 3T 1942 1,
Has H Tl AT ST HA A 3H FETd T FAA fohar foasd @ 2 7 eamaes o= 1
g STeT HEY T JTEaTel fohaT a1 AT| ST T W IS & Sifeer & a1 # $H19oT fear 2|
'HRA OIS o JTEdT of 2T & 93 Ged 7 Tog AT hl o9137e1 39 T fear Fifer ol = TawoT &
W& T 3MeTelal F ATA Y foram| el o gsarel i 3R I il 3R ART & @ gedhe AR SJord
fAehTeY 31T | TE 3Tl arEdd | U Sief 3MieTelel AT [Tt gIRT 318 aalt, 31T ora, sfdewr 3k
FRaTaT T 319 g ST . SHH SITYHIA ARTICT, 31T TAE 37l 3R T AAGT Nfgar s
SAT3iT 3R S9TTer F AT ToRT, 31HH & FeToheddT 58317 3R 3N & 37 & S v ARgelT
AT T Ffeher Al SdY 1S | 3T F Ferqde are fe=m, R o JieresT 37 gare F v av &
3178 HI 9T 31T

1. 3MelY ST & 3191 GTAGH T AT AR T ART gl 6T 2AT? 1
2. 'HId BISr YEATT T AT 7 2A? 1
3. ¥R BIST 3Tl H HET ool dTell &1 ITAeY ATl A3 & AT Jdre? 2




Q35.Read the sources given below and answer the questions that follows: 4

In the semi-arid and arid regions of Rajasthan, particularly in Bikaner, Phalodi and Barmer, almost all the
houses traditionally had underground tanks or tankas for storing drinking water. The tanks could be as large
as a big room; one household in Phalodi had a tank that was 6.1 meters deep, 4.27 meters long and2.44
meters wide. The tankas were part of the well-developed rooftop rainwater harvesting system and were
built inside the main house or the courtyard. They were connected to the sloping roofs of the houses
through a pipe. Rain falling on the rooftops would travel down the pipe and was stored in these
underground ‘tankas’. The first spell of rain was usually not collected as this would clean the roofs and the
pipes. The rainwater from the subsequent showers was then collected. The rainwater can be stored in the
tankas till the next rainfall making it an extremely reliable source of drinking water when all other sources
are dried up, particularly in the summers. Rainwater, or palar pani, as commonly referred to in these parts,
is considered the purest form of natural water. Many houses constructed underground rooms adjoining the
‘tanka’ to beat the summer heat as it would keep the room cool.

35.1 Which areas of Rajasthan are arid and semi-arid? 1
35.2 What are the Utilities of Tankas? 1
35.3 Describe the rainwater harvesting practiced in Phalodi of Rajasthan? 2

A e e @iat 1 9¢ 3k Rrafaf@a vt F 3w &

STEATS 3 3TE-g[sh 3R Q[oeh 131 &, faY &9 & Fhroi, Beildl 3R STSAT H, ofarster @il exdy
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I3 &1 Thd &, Beilal 3 Ueh B o UTH Ueh ¢oh AT SiT 6.1 FHIeX I, 4.27 FHeX ofeT 3R 2.44 HeX
TIST UT| TTehT 3TTBT oRE A [T Sl W ST STol Feel JuTTell 1 36aT & AR Feg axan
371317 & 316 IATU 31T A| J Ueh UISY & ATEIH H BRI T Solled dTell Bl ﬁtg‘s‘gtr??rl Sl W gl
ATl ST ITST o ATETH { 1< <Tell STl AT 3R ST SR ol H STAT g STl & | 3TAAN W/
STIRET I ugelT STRET T Teha 18T AT SITAT FATTh SHY Tl 3R 18T ATH 81 ST | ST §1G, 916,
$r a1 & SRR 1 a1y Ten e foRaT SITaT AT| STREr & 9T Y @Tehr3i & 79Tl TR dh agrd
foraT ST TR B, I9aa a8 @t o ITeil T Ueh 3cdd TaRadeii Al a0l SfTdT &, STe 37T o
Al G ST &, TR AT | o7 3o, IT 9TeR ITelt, ST fof 3o7 #1elt 3 AR o) gl S g,
STehTcteh STof ohT He QCEN & HIAT STl & | S BT & 13T § TGl UTed & TIT <iohT oh I AT ok
AT ST 3, R AT 37 T§ar AT

35.1(@?%3:3#3?&#1%;@@3{?&@%5%?
35.2 ThT3T T ITANTANATT a7 &2
35.3 ASTEUTT & BeAleT H IYITT ITT TN STl JITeT T JUTH hi?

Q36. Read the sources given below and answer the questions that follows: 4

A vessel dumped 500 tons of liquid toxic wastes into open-air dumps in a city and in the
surrounding sea. This happened in a city called Abidjan in Ivory Coast, a country in Africa. The
fumes from the highly toxic waste caused nausea, skin rashes, fainting, diarrhea etc. After a
month seven persons were dead, twenty in hospital and twenty-six thousand treated for
symptoms of poisoning. A multinational company dealing in petroleum and metals had contracted
a local company of the Ivory Coast to dispose the toxic waste from its ship.

36.1 Who are the people who benefited and who did not?1
36.2 What should be the developmental goal for this country?1
36.3 What can be some of the developmental goals for your village, town or locality?



2
A fow are @Y 1 93 3k A @T weat F 3w

Teh STETST o 500 o ool fAsTercl el ohY Teh QU6 3R ITHUTH & T H Gol & theh fGAT| Tg 315hrehr &
Teh 2T 3T PIEC o NG ATH AT H §3T| AT STelel HaR o YT A Acell, oo R T,
el gxd 3nfe g1 ITT| Ueh AGIA o 1 AT AleT X IV, ST 3 ETATS H & 31X Tealld gl AT ahl
ﬁw%a&vﬁaﬂ%{vmmwmﬁmﬁ?m@}ﬁwmmmwwm
o 3T STETST U TAehell aTel STgdiel e & A dere o fou 3gadl e I Teh FUTAT el & 3fefeer
e am|

36.13%W%%ﬁm§mwﬁaﬁ?l
36.2 3 S & foIU fAh e I8 FIT glaT A1fg U2l
36.3 37T 31, HES AT FelTeh o ToIT FHes TARIHTCHD olaT FAT 8T Tehel 622

Q37.(a) Two features A, and B are marked on the given political outline map of India. Identify
these features with the help of the following information and write their correct names on
the lines marked in the map: 2

(A) The place where cotton mill workers organised Satyagrha.

(B) The place where the Indian National Congress session of September 1920 was held.

ar o80T A, 3R B 9IRT & U 91T Teteiifaes Y&T-AAT & 3ifeha fhw v § | 3o ofa7on &
fAFfad TSR T TEIAT & TgAIfav 3R 3% FE A AT & T 718 3@t | f@u

(A) T8 TUTT ST6l it HUST TAeT Holgll o TewErg fomar ot |
(B) I& T STET AT ISCT HIH T RAAFR 1920 1 3ifAaereT gam 2 |

Note: The following questions are for the Visually Impaired Candidates only in lieu of Q.No.
37(a):

(i) The place where cotton mill workers organised Satyagrha.

(ii) The place where the Indian National Congress session of September 1920 was held.

Ae : AT v dad teaifaa aRanfdar & fov v gEar 37(a) & TUH W § -
(A) T8 U S8l FAT $HUsT AT Holgll A FcAmrg fohar ar |

(B)%mﬁwwmwmlgzowmﬁ%m?ﬂm|

37(b) On the given political outline map of India, locate and label the any three with
appropriate symbols : 3

A Netaji Subhash Chandra Bosh International Airport
B. Iron and Steel Plant — Jamshedpur
C. Major Sea Port — Kandla



D. Sardar Sarovar Dam

aRd ¥ RT 7T yereifas @r-amfaT & e de # sagea Rl § qsv il saam
fafQw :

A. TS AN Tog; &I RIS gaTg ueied

B. 8T T EUId TIT - STHIC

C. 9@ HHLY TUxlel- Hisell
D. TER TR &1

Note: The following questions are for the Visually Impaired Candidates only in lieu of Q.No.
37(b) : Any Three

(i) In which state is Kaiga nuclear power plant located?

(ii) Name the state where Jamshedpur Iron and Steel Plant is located.
(iii) Name the state where kandla sea port located.

(Iv) Name the state where Sardar Sarovar dam is located.

die : el naT Faa tRcaita R F v gea F&4r 37(b) & Fu9r W § -
15 T

(i)3a 3MUTide FaT TIF fohd e H ey g

(i) 38 To & a1 fAfAT, SEf FEdeR et AR ST @O Ry § |
(iii)3a ToT #1 7H fARGT, STl Hisl FHT T TUT §

(iv) 38 Tsg & A AT, S8l TWeR ) o 78d ¢ |
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